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Question 1

Fig. 1 shows two cells of emf
E1 and Ez with internal
resistances r1 and r2
respectively. The potential
difference between the points
Aand B is,
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Question 2

A current of 10amp. Is,
flowing through a conductor
of cross-sectional area 1mmzZ.
If the density of charge
carrier be 102icm3, the drift
velocity of electrons will be,
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Question 3

The magnetic field of a small current loop at a large distance r from the loop along its axis varies as
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Question 4

A solenoid of length 2m and diameter 2mm carries 10 ampere current. The magnetic field produced along its axis inside the solenoid is 10mT. The length of

the wire of the solenoid is,
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Question 5



In the Fig. 2 the resistance of
the upper semi-circle and
lower semi-circle(each of
radius =r), of rigid metal wire
are R and 2R. I is the current
flowing through the

circuit, the magnetic field at
the center of the circle is
equal to,
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Question 6

A conductor carries a current
I as shown in the Fig.3. The
force on the conductor will be
zero , if a uniform

Magnetic field B is applied
along-
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Question 7

A square loop of sidea,
carrying current i is placed at
a distance afrom a very long
straight wire carrying current
i as shown in the Fig.4. The
force on the loop is,
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Question 8

A flat circular coil of n-turns,
resistance R and area A is
placed perpendicular to a
uniform magnetic field B. The
coil is rotated about its
diameter through an angle 90
degree, in the plane of the coil
and perpendicular to one of the

arms through an angle ; The

charge flown through the coil
is,
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Question 9

If a charged capacitor C is
discharged through an
inductor L of resistance R,
the frequency of oscillation
will be,
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Question 10



A cell has emf E. If the cell
inductor is connected to a of
inductance L of small
internal resistance, then the
current i varies with time
as,

A6 SfEIFTET BfESEFE 9
E | @At awh Fawansy, L
aETel [T SmETEE T
Ie FAE JGANE  ONGSTAE
A@N J WEF -9 A GEASe
T

Question 11

Two coils of self-inductance
L: and Lz are placed so close
to each other that all the
flux produced by one is
linked with other, then the
mutual inductance between
them is,
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Question 12

Two conducting rings of radii
2rand r are moving in
opposite direction with a
velocity vV and 2v
respectively as in Fig. 5. B is
the uniform magnetic field
acting perpendicularly inside
the plane of paper. The
magnitude of potential
difference between their
highest points is,
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Question 13



The emf of a thermo—couple
with one junction at 0°C is

1 5
given by E= a'r-i—;ﬁf" .

o, [ =constant. lts Peltier
coefficient 1 is,
(t = temperature of hot junction

in Celsius)
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Question 14

A capacitor of capacitance
54F is discharged through
an inductance of 0.4H and a
resistor. What must be the
maximum resistance of the
circuit in order that the
discharge is critically
damped?
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Question 15

The magnetic susceptibility
of a medium is 940x104. Its
absolute permeability is,
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Question 16

Car batteries are often rated in ampere-
hours. What it represents
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Question 17

A potential difference of 1.0 V is maintained across a 10 Q resistor for a period of 20 s. What total charge passes through the wire in this time interval?
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Question 18

Potentiometer is better for measuring the potential difference than the voltmeter because
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Question 19

The dipole moment of current loop is independent of
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Question 20

The radius ofthetrajectory of a charged particle in a uniform magnetic field is proportional to
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Question 21

No force is exerted by a magnetic field on a stationary
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Question 22

Curie point is the temperature at which ferromagnetic substance become
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Question 23

Hysteresis cycle for material of permanent magnet should be
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Question 24

A long solenoid has 200 turns per cm and carries a current of 2.5 A. The magnetic field at its centre is (given p0 =41 x 10-7 Wb/m2)
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Question 25

A long copper pipe carries a current. Then the magnetic field is
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Question 26

Eddy currents do not cause
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Question 27

The role of inductance is equivalent to
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Question 28

In a circuit the reactance and resistance are equal. What is the power factor
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Question 29

Displacement current is set up between the plates of the capacitor when the potential difference across the plates is
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Question 30

In an electromagnetic wave the average energy density associated with the electric filed is given by
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